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urd 22 mw.ﬂ § =% faen R S 250 Mar. 22 Received:a cheque .from- S
@ 5 o 10 | Suresh o 250
. o Allowed him discount 10
e 25 §% 3 =\ fm 200 _ e i -
. - _ Mar. 25 Bank credited interest - 200
A 30 S ¥ TR S e300 ‘Mar. 30 Cashdeposited ifito ‘Bank 300
From the following transactions, prepare a three S R
column cash book : | . wmﬂ_wlﬂ_
Mar. |  Balance in hand | 415 2. w_ﬂ TEH TEATE B IF FEF T I &__,mﬁ
Balance at Bank 2,530 q91 31 AT, 2016 At .%@ w_ﬂm HT—
Mar. 2 Paid wages by cheque 950 I [ A
Mar. 5 Cash purchases 180 e 99 oz eI - %
15 i f _ _
Mar Wnom.:am a cheque from ® _ 2450 m A a0
Krishna 530
Allowed him discount 20 ®4 : muo _ _m_m _ . 14,690
Mar. 16 Payment made by cheque to o oagdl. . 350 W % G ., 2450
Mohan | - 400 aTeER U1 W @ﬂ 250 AET 7,580
Discount allowed by him 15 ¥
o ey > Eae 360 mﬂw@a_ 2,750
Mar. 18 Cash sales 150 o S et
Mar. 20 Furniture purchased and paid T mmo __m“ _ L 600
by ¢heque - 300 AT =4 woo ma Hﬂ 1,350
relt —PT
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m. .
L] Trial Balance

s 8,000 Debit balance T Credit balance T
m,._ﬂ_dﬂ 1,250 | | Opening stock 2,450 Returns inward 40
g rfufaewd 1,570 | | : | Purchase 11,870 Sales 14,690
de T Jl0 - w Returns outward 350 Discount allowed 450
C _.mﬁn&o __ | 27,460 w Bad depts received 250 Debtors 7,580
| e — | . o : Rent 360 Bank deposit 2,750
. © Salaries: = - . .850 Drawings - 600
@ 31 T, 2016 mﬂ S AT T 4,200 Travelling exp. 300 Bills payable 1,350
e Capital . 8,000
(i) ¥ 80 s /U % SrufefEe HISTE U Creditors - 1,250
TRl W e w0 & U 5% §@eE Bank overdraft 1,570
ERLEY Cash in hand 210
(i) & =E w1 R ewEE ¥ 27,460 27,460
(iv) §% T U TH ¥ ¥w 99 WS ¥ Adjustments :
e fRY TR 7 135 AdT S sfufaes W (i) The closing stocks on 31 March, 2016 was
%%@m@@mi@f%%ﬁ@ ¥ 4,200.
o (it) Write off ¥ 80 as bad debts and create a
& | 7 T 4 reserve for bad debts at 5% on debtors.
Wo&mé_wnm correctly the trial @m_mﬁoo given | (ii) Three months rent is outstanding,

below, and prepare the final accounts as on
31st March 2016 : .
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(iv), Interest on Bank . a@omn 3 Bm credited
3 the cmbw@mm mnn interes o<on&mm
T 157 ang&;@

GE?H= -
: %ﬁﬁﬁwwﬂﬂﬂxﬁ@aﬁﬂwu
7% TO-3 waR S
What is Secret Reserve? How is it created?
Write merits and demerits.
qgqAqt
Or

1 ¥, Nos%_ﬁﬂﬁ%ﬂmm&d
ﬂmﬂﬁoooooﬁ_,_ﬂﬂ@ 2013 = Z 10,000

H AR 1 I, 2013 ® T 20,000 F R
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T T ﬁwﬂ Nosﬂﬁd%

| ﬂmﬁ&amﬂﬁoooo ﬁmﬂgﬁﬁa 2014

ﬂfoooow@.mmsﬂ%nﬁﬂ@ﬂa
ﬂ%d&w%@mﬁ&i:% 2012
ﬂﬁ%uﬁ:ﬂ:&@égﬁ&ﬂ&ﬁ@.@ﬁ
ﬁﬁﬁ@ﬂﬁﬁ,ﬁ ﬂmn Ngmﬂﬂ

| wﬁggﬂgmﬂﬂa%mﬂz

ogﬂﬂ@} ﬁm Nosﬂwmaﬁﬁﬁg

gﬂ_,_ﬁmﬂ Nos@ﬁﬂﬂ 2015 TF
ﬂﬂﬂ%.@é%ﬁﬁ

The book: vatue of plant ‘and machinery on Ist
April, 2012 ‘was T 2,00,000. New machinery for
T 10,000 was purchased on 1st January, 2013 and
@ﬂ T 20,000 on 1st October, 2013, On 1st July,
2014 a machinery whose book value had been
Z 30,000 on Ist April, 2012 was sold for ¥ 16,000
and entire amount was :cridited to plant and
machinery account. Depreciation had been charged
@ 10% p.a. on the book value on 1st April, 2012
oz_wq_amg line method. It was decided on 31st
March, 2015 that depreciation @ 20% p.a. on
diminishing balance method should be
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(91
charged: with retrospective effect since Ist April;
2012: Show the ‘plant and machinery Account
fror 1t April, 2012 to 31st-March, 2015.
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Unit-1V
4 @ 2013 @ T few TS fHe ¥ E TH
SR T T | T oA € 6,000, WA
@ fFva § 31 W, 2014, 2015, 2016 !
T W ¥ | GE . G g A R
T 16,340 o | Foviea TSR 9 TR 5% H
T T & 1 S Wi Sﬂl&mﬂa
7T Tl T T ¥F A 25% SfaR T TR |
mﬁﬂwﬂs%ﬁmm&;&m&ﬂw%%
Sicroc e icn-clicais i
On 1st April, 2013 the Jindal Traders Ltd. took

delivery of one truck from Hind Motors Ltd. on
hire-purchase mmaaoﬁ_onr. payable in three equal
instalments of ¥ 6,000 each on 31 March 2014,
2015, 2016. The cash value of the truck on
delivery was ¥ 16,340. Vendor charges interest

ams PTO
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at 5% p.a. on the yearly balances. The t&.ormmﬁ
wrote off 25% on the diminishing value as
depreciation for each year to 31 March, Pass
the necessary journal entries to record the above
transactions in the book of both the parties.
HEQ
forwe sy wgfa w1 w0 o ¥ e A
vt wE forva ypram et H wm oR ® 2 v
HifsT) |

gwﬂ.mm the medning of Instalment Payment
System? What is the difference between Hire-
purchase: System and Installment Payment
System? Explain.

THE-V

Unit-V

. TF R H A, B 3R C WERR ¥ iR e

40%, 30% i 30% % 3FUW o wiea ¥ 1 IWMA
farerem =1 Forofer foran oi weaforddl & it =@
FH qY1 THT §2a A F fow B # g
foFn | B #t 3@ W ¥F o ©i o) TR R

o =1226




(1]
wqw ¥ T sy Wt ¥ e H fe
S @R el % T T A aE wom L wH
2R T T e ¥ fam o Py freaifes
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TR TR F Folr B oww d e g

A, Biind C are partners in a firm and share profit

i and losses 40%, 30% and 30% respectively. They
7 o X - decided to dissolve, and appoint B to realise the
TR 59,000 | ¥ o 1,500  assets and distribute the proceeds. B is to receive
_ 5% om the amounts realised from stock and debtors
Awmw . | SR _ 45,500 as his; _.oBESBgP and is to bear all Ea expenses
A 30,000 TA-FEEHE 2,500 43,000 . .of realisation. The. mc:ogmm 1s the Balance sheet
B 20000 mo_boo E—— . 60,000 | _vhovﬁma by Eamammmm_@nnwﬁ of &mmo__snom s
o¥ kL . 4,500 » a ,_. )
Creditors 59,000 | Bank _. 1,500
1,09,000 _ 1,09,000 Capitals : | Debtors 45,500
B ¥ weh = e ey - TRR W A 30000 | ) provi. _2.500 | 43.000
735,000 WM W % 45,000 @Afa ¥ faQ B 20,000 ( 50,000| Stock | 60,000
£ 2,000 W T IR B T 57,500 fad R S C-overdraft 4,500
Tt w1 U R e e T 500 W 1,09,000 _ 1,09,000
Sl ® o T R T ¥ =] B H%o:m the result of realisations as follows :
600 T A B & wE foal C franfern & Debtors realise ¢ mmu_ooo stock realise T 45,000,

Goodwill is sold for ¥ 2,000. Creditors were paid
T 57,500 in full settlement. Outstanding creditors
T ¥ 500 have been paid, The expenses of realisation

T $iR sHeRt freft weafs @ %ee ¥ 3,000 W

T
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amounted to ¥ 600 which B met personally. C
became msolvent T 3,000 were received from
his estate.

Show the Capital Accounts, Realisation Account
and Bank Account taking into consideration
Garner Vs. Murray’s decision.
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Or
YIS HT T 9T ¥ 7 THF IL9Y WS oY
aen wifa fafea)

What 1s Amalgamation? Write its objects and
merits & demerits.
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